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(a) Solve the following :

ffiF{d qi ro ot:

(i) 126983 + Z7t00t + 702t89 =

(iD 111l x 7854 :

(b) Explain the concept of the Baudhayana
Sulbasutra for approximating the value of pi.
Determine the approximate value of the
circumference of a circle whose length of the

diameter is 16. Apply Vedic mathematics

techniques to execute the calculations.
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2. Answers may be written eith c rn Bngllsfr ndi;OI

but the same medium should be used throughout the
paper.

3. Question No. I is compulsory.

4. Answer any two questions from question nos. 2 to 4.

5. All questions carry equal marks.

6. Use of calculators is not allowed.

7. Mention the Vedic Mathematics Sutra and Subsutra
used to solve the question.
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Attempt any four of the following :

Frqftft+e t * +€ qn ccru dRq:
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-+63499:237919

(ii) 
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x 86:21070

(rr) (EU5)'

(iv) Convert to normal : StlSqU

qrqm I E?t-. 543407

(v) 99999 x 8725 =

(a) A warehouse has a capacity to store exactly I006
products. Each product has a base of length 7l
meters and width 14 meters. What is the total

arba of the warehouse?
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(b) Explain the concept of Baudhayana Theorem as

presented in the Baudhayana Sulbasulra and

provide one proof of the theorem.
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(a) Solve the following :

ffiF{d d ra qi:

(i) 9997 x 9997 =

(i:i $24s =

(b) Complete the following table with the Baudhayana

numbers of the respective angles :

Angle Perpendicular Hypotenuse
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